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"/ Phép cong Ién dén 100 (hang ngang)

Tén:_ Ngaythang:_ Piém:__
10+ 83 = 54+ 69 =
81 +91 = 1+74=
72+38 = 80 +27 =
35+25= 25+52 =
100 + 18 = 85 +98 =
30+77 = 39+53 =
92 +90 = 33+54=
20+ 49 = 42 + 89 =
79+ 41 = 20+9=
72 +38 = 79 +99 =
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2 o/ Phép cong 1én dén 100 (hz
N p cong lén dén (hang ngang)

Tén:__ Ngaythang: _ Piém:____
10+ 83 =93 54+ 69 =123
81+91=172 1+74=175
72+38 =110 80 +27 =107
35+25=60 25+52="177
100 + 18 = 118 85+ 98 = 183
30+ 77 =107 39+53=92
92 +90 = 182 33+54 =287
20 +49 =69 42 +89 = 131
79 +41 = 120 29 +9 =38
72+38 =110 79 +99 = 178
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